
  

 
 

 

 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

QUESTION 1 

338n be broken down in 3 hundreds, ___tens and 8 ones.  

 

a) 8 

b) 3 

c) 30 

 

QUESTION 2 

True or False:961 can be partitioned into 900+50+11 

a) True 

b) False 

 

QUESTION 3 

Which of the following is 541 partitioned?  

a) 500hundreds, 4 tens, 1ones 

b) 500+40+1 

c) 500hundreds, 1ten, 4ones 

 

QUESTION 4  

What number does 800+10+2 makes?  

a) 812 

b) 8012 

c) 821 

 

QUESTION 5 

What is 414 partitioned?  

a) 4+1+4 

b) 400+1+4 

c) 400+10+4 
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